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Pisemna ¢ast prijimaci zkou$ky z anglického jazyka varianta D
Studijni program / obor: U¢itelstvi pro 2. stupenn ZS — anglicky jazyk

1. Dopliite druhou vétu 2 az 5 vhodnymi slovy véetné tu¢né vytiSténého vyrazu uvedeného
za prvni vétou tak, aby vyznam prvni véty ziistal zachovan. Tvar daného vyrazu nesmite
meénit. StaZeny tvar (isn’t, hasn’t atd.) je povaZzovan za 1 slovo.

Priklad:
It is more difficult to express some feelings than others. easier
Some feelings _are easier to express than  others.

1) This will be my first visit to Brazil. have

| Brazil before.

2) Politics has never interested her. interested

She politics.

3) If you don't practise every day, you won't improve. unless

You won’t improve every day.

4) There were not enough eggs to make pancakes for breakfast. few
There eggs to make pancakes for breakfast.

5) All students must wear school uniform at all times. be

School uniform all students at all times.

6) “Get off the bus at the station,” said Peter to Eva. to

Peter told Eva the bus at the station.

7) Her smartphone is Sarah's favourite possession. more

Sarah likes her smartphone of her possessions.

8) His daughter forgot to pay that bill. remember
His daughter that bill.

9) Tricia will probably visit us while she's in London. stay

Tricia will probably visit us in London.
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10) I’d better get up early so I don’t miss the bus. must
I late or | will miss the bus.

11) We cannot leave if John does not arrive. until

We will arrives.

12) We like the countryside more than the town. prefer
We the town.

13) It is essential to be on time. late

It is essential

14) The new restaurant is quite near our house. too

The new restaurant is our house.

15) Gerry is a vegetarian and his wife is one too. is

Gerry is a vegetarian and wife.

16) We had to stop walking because the trip was so exhausting. such

It was we had to stop walking.

17) The film last night was really thrilling. by

I was the film last night.

18) Maria suggested visiting Prague. were
Mary said: “If I visit Prague.”

19) Most tourists love Czech beer. Nearly

love Czech beer.

20) Although I was tired, | managed to complete the test. despite

, I managed to complete the test.

3ze16
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2. Z. danych moZnosti vyberte spravnou variantu. Pismeno spravné odpovédi zaneste do | VaSe

sloupce vpravo ke spravnému ¢islu. Jina odpovéd’ NEBUDE hodnocena. odpovéd’

1. Neitherof ...... likes rap music. 1.
a) them b) then c) their d) they

2. I‘m not as hard-working ...... my brother. 2.
a) - b) than c) unlike d) as

3. Ifshe...... English better, she’d be able to get a really good job. 3
a) spoke b) speak C) speaks d) spoken

4. You cooked far too ...... food. 4
a) many b) much c) enough d) better

5. You must be very proud of Jake. He works ...... hard! 5.
a) enough b) too C) SO d) much

6. The mountain ...... we climbed yesterday was the highest mountain in Britain! 6.
a) what b) where c) which d) when

7. We...... will have time to see that film tomorrow. [S—
a) exactly b) definitely c) extremely d) recently

8. I...... to stay at work late tomorrow. I can’t do anything about it. 8
a) should b) must c) have d) can

9. We don’t have to go out on Saturday. We ...... stay in and watch a film. 9
a) could b) have c) should d) maybe

10. My name is ...... the top of the list. 10.
a) behind b) at c) in d) on

11. What time does your alarm clock ...... off in the morning? 11.
a) take b) switch c) go d) time

12. When Harry saw his girlfriend dancing with Paul he felt ....... 12.
a) faithful b) selfish c) sentimental d) jealous

13. They have to ...... a decision. 13.
a) see b) do c) make d) have

14. A cinema was burnt out last night. Police suspect ....... . 4.
a) burglar b) thief C) arson d) hijacker

15. The soup was ...... delicious. 5.
a) absolutely D) bit C) very d) much
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16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.

27,

28.

29.

30.

The plane flew ...... the Pacific.

a) behind b) along c) over d) above

I missed the bus, ...... | had to walk.

a) unless b) although c¢) so d) above

The sea is too far out; we can’t swim till the ..... comes in.

a) current b) stream c) tide d) water

The police arrested a man and ...... him with murder.

a) charged b) proved c) examined d) investigated
This clock ....... on two small batteries

a) goes b) works C) runs d) moves

Where is the movie ...... ?

a) simulated b) placed C) set d) locate

She was ...... in a car accident.

a) shot b) succeeded  c) sabotaged d) injured
Chocolate cake is very ...... .

a) healthy b) fattening C) poisonous d) disgusting
It’s vital that the students” handwriting be ........ :

a) illiterate b) legible c) legitimate d) literate
Suburbs are ...... the city centre.

a) outside b) in c) behind d) before
Generous’ is the opposite of ...... .

a) mean b) honest c) nice d) pessimistic
You ...... when you are bored or tired.

a) sneeze b) wave C) yawn d) clap

The piano is badly out of ...... , I'm afraid.

a) melody b) practice C) tune d) use

...... she watered the plants, they didn’t grow.

a) Also b) However c) But d) Although
Do ...... of you have any money I can borrow?

a) either b) neither c) or d) both

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.

217.

28.

29.

30.
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3. Prectéte si peclivé nasledujici text. Nékteré radky jsou bez chyby, v jinych je jedna chyba, protoze
obsahuji jedno slovo navic. Je-li Fadek bez chyby, napiSte na patii¢né misto vedle Fadku nulu (0).
Obsahuje-li Fadek slovo, které tam nesmi byt, napiste tento vyraz na patii¢né misto vedle iadku a

rovnéz jej v textu podtrhnéte. Radky 1 a 2 jsou piiklady.

The Full Monty (an extract) by Wendy Holden

. Twenty-five years ago, the city of Sheffield in the north of England was
. awonderful and exciting place under to live. In those days,
. Sheffield has produced the world's finest steel, and steel was big

business. More than a hundred thousand men must worked night and

1
2
3
4
5. day in the great steel factories, were making everything from steel blocks
6. to knives and forks. There was plenty lot of work and of money. The people
7. of Sheffield worked hard, but they also enjoyed spending the money

8. they were earned. They went out at night to pubs and restaurants and

9. took their families on holiday every year. Life their was very good.

10. But within a few short years, everything changed. Sheffield was began

11. to face competition from steel and factories in other parts of the world.

12. The Far East could produce steel more cheaply than Sheffied himself and
13. so, one by that one, the great steel factories closed. The men who worked
14. all their lives in the steel factories lost their jobs. They have had no money
15. to spend, nothing to do and nowhere to go except the local Job Club. Now
16. it was the women who had to find work to support with their families.

17. So they should found jobs in local shops and businesses. The pay was not
18. as good as the men had earned in the steel factories, but it was something.
19. And they were earning any money while their husbands sat at home.

20. One cold afternoon in April, two men and a boy were walking next

21. through an empty factory. One was carrying a steel block on both his

22. shoulder. He complained: “Who is going to want this mine old block?”

He was not in a very good mood. The block was heavy.

under

© 0 N o O bk~ w D PE

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

6 ze 16




Pisemna ¢ast prijimaci zkou$ky z anglického jazyka varianta D
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4. Ze ¢tyr moznosti vyberte jedinou spravnou. Pismeno spravné odpovédi zaneste do Vase
sloupce vpravo ke spravnému ¢islu. Jina odpovéd’ NEBUDE hodnocena. odpovéd’
1) Which book of children’s literature does the character of the White Rabbit come from? |1.
a) Winnie-the-Pooh by A. A. Milne
b) Alice’s Adventures in Wonderland by Lewis Carroll
¢) Charlie and the Chocolate Factory by Roald Dahl
d) The Jungle Book by Rudyard Kipling
2) "...the Battle of France is over. I expect that the Battle of Britain is about to begin," are 2
words from T
a) a speech of William the Conqueror from 1066
b) a proclamation of King Edward 111 from 1337
c) atreaty of Queen Elizabeth | from 1558
d) Winston Churchill’s speech from 1940
3) The novel Jane Eyre was written by 3
a) Jane Austen -
b) Emily Bronté
c) Charlotte Bronté
d) George Eliot
4) Ernest Hemingway belongs to the literary movement called U
a) Lake poets
b) Metaphysical poets
c) The Lost Generation
d) The Beats
5) John Updike wrote his literary work S
a) in Middle Ages
b) in the 18" century
c) in Renaissance
d) in the 20" century
6) James Joyce's Ulysses is 6.

a) adrama

b) a picture of a mythological topic

c) the first English translation of Homer’s epic
d) a modernist novel
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7) Edgar Allan Poe was not an author of
a) Renaissance drama
b) short stories
C) poetry
d) critical essays

8) What is Cockney?
a) an American summer festival
b) a traditional Christmas dish
c) astrong London accent
d) abrand of Irish whiskey

9) The Black Death refers to
a) a battle in Normandy during the WWII
b) a battle of Napoleonic Wars
c) aplague epidemic in the 14™ century
d) acrisis of economy in the 1930s

10) Watergate scandal resulted in
a) World War 1l
b) American Civil War
c) the economic crisis of the 1930s
d) the resignation of President Nixon

11) Martin Luther King Jr. was
a) Governor General in Canada
b) an English religious reformer in the 14™ century
c) involved in the civil rights movement in the USA
d) Lord Chancellor executed under King Henry VIII

12) Which of these has NEVER been a British colony?
a) Australia
b) New Zealand
c) Brazil
d) India

13) Queen Victoria reigned in Britain
a) in the 13" century
b) in the 15" century
c) inthe 17" century
d) in the 19" century

10.

11.

12.

13.
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14) Pulitzer Prize is awarded in
a) the USA
b) the UK
c) Canada
d) Australia

15) What is the capital of Wales?
a) Dublin
b) Glasgow
c) Cardiff
d) Belfast

16) What is the highest peak of the USA?
a) Mount McKinley
b) Ben Nevis
c) Snowdon
d) Mount McKenzie

17) The words “Trick or treat” are associated with the celebration of
a) Halloween
b) Boxing Day
c) Independence Day
d) St. Patrick’s Day

18) The Emerald Isle is a nickname of
a) Ireland
b) Australia
c) Canada
d) New Zealand

19) What is the largest US state?
a) Texas
b) Alaska
c) Florida
d) California

20) The Guggenheim Museum of Modern Art can be found in
a) New York
b) London
c) Canberra
d) Aberdeen

14.

15.

16.

17.

18.

19.

20.
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2. Z danych moZnosti vyberte spravnou variantu. Pismeno spravné odpovédi zaneste do | 60b

sloupce vpravo ke spravnému ¢islu. Jina odpovéd’ nebude hodnocena.

1. Neither of ...... likes rap music. 1. A
a) them b) then c) their d) they

2. I‘m not as hard-working ...... my brother. 2. D
a) - b) than c) unlike d) as

3. Ifshe...... English better, she’d be able to get a really good job. 3. A
a) spoke b) speak C) speaks d) spoken

4. You cooked far too ...... food. 4. B
a) many b) much c) enough d) better

5. You must be very proud of Jake. He works ...... hard! 5 C
a) enough b) too C) so d) much

6. The mountain ...... we climbed yesterday was the highest mountain in Britain! 6. C
a) what b) where c) which d) when

7. We...... will have time to see that film tomorrow. 7. B
a) exactly b) definitely c) extremely d) recently

8. I...... to stay at work late tomorrow. I can’t do anything about it. 8. C
a) should b) must c) have d) can

: 9. A

9. We don’t have to go out on Saturday. We ...... stay in and watch a film.
a) could b) have ¢) should d) maybe

10. My name is ...... the top of the list. 10.B
a) behind b) at c)in d) on

11. What time does your alarm clock ...... off in the morning? 11.C
a) take b) switch C) 9o d) time

12. When Harry saw his girlfriend dancing with Paul he felt ..... . 12.D
a) faithful b) selfish c) sentimental d) jealous

13. They have to ...... a decision. 13.C
a) see b) do c) make d) have '

14. A cinema was burnt out last night. Police suspect .... 14.C
a) burglar b) thief C) arson d) hijacker '

15. The soup was ...... delicious. 15. A

a) absolutely Db) bit C) very d) much
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16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.

27,

28.

29.

30.

The plane flew ...... the Pacific.

a) behind b) along C) over d) above

I missed the bus, ...... | had to walk.

a) unless b) although c) so d) above

The sea is too far out; we can’t swim till the ...... comes in.

a) current b) stream c) tide d) water

The police arrested a man and ...... him with murder.

a) charged b) proved c) examined d) investigated

This clock ...... on two small batteries.

a) goes b) works C) runs d) moves

Where is the movie ...... ?

a) simulated b) placed c) set d) locate

She was ...... in a car accident.

a) shot b) succeeded c) sabotaged d) injured
Chocolate cake is very ...... .

a) healthy b) fattening C) poisonous d) disgusting
It’s vital that the students” handwriting be ......... .

a) illiterate b) legible c) legitimate d) literate
Suburbs are ...... the city centre.

a) outside b) in c) behind d) before
‘Generous’ is the opposite of ...... .

a) mean b) honest c) nice d) pessimistic
You ...... when you are bored or tired.

a) sneeze b) wave C) yawn d) clap

The piano is badly out of ....... , I'm afraid.

a) melody b) practice C) tune d) use

...... she watered the plants, they didn’t grow.

a) Also b) However c) But d) Although
Do ...... of you have any money I can borrow?

a) either b) neither c) or d) both

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.

27.

28.

29.

30.
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Pisemna ¢ast prijimaci zkou$ky z anglického jazyka varianta D
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3. Prectéte si peclivé nasledujici text. Nékteré radky jsou bez chyby, v jinych je jedna chyba, protoze
obsahuji jedno slovo navic. Je-li fadek bez chyby, napiSte na patificné misto vedle Fadku nulu (0).
Obsahuje-li Fadek slovo, které tam nesmi byt, napiSte tento vyraz na patfiéné misto vedle Fadku a
rovné’ jej v textu podtrhnéte. Radky 1 a 2 jsou p¥iklady.

The Full Monty (an extract) by Wendy Holden 40b.

1. Twenty-five years ago, the city of Sheffield in the north of England was 1. 0

2. awonderful and exciting place under to live. In those days, 2. under
3. Sheffield has produced the world's finest steel, and steel was big 3. has
4. business. More than a hundred thousand men must worked night and 4, must
5. day in the great steel factories, were making everything from steel blocks 5. were
6. to knives and forks. There was plenty lot of work and of money. The people |6. lot

7. of Sheffield worked hard, but they also enjoyed spending the money 7. 0

8. they were earned. They went out at night to pubs and restaurants and 8. were
9. took their families on holiday every year. Life their was very good. 9. their
10. But within a few short years, everything changed. Sheffield was began 10. was
11. to face competition from steel and factories in other parts of the world. 11. and
12. The Far East could produce steel more cheaply than Sheffied himself and 12. _ himself
13. so, one by that one, the great steel factories closed. The men who worked 13. that
14. all their lives in the steel factories lost their jobs. They have had no money 14. have
15. to spend, nothing to do and nowhere to go except the local Job Club. Now 15. 0

16. it was the women who had to find work to support with their families. 16. with
17. So they should found jobs in local shops and businesses. The pay was not 17. should
18. as good as the men had earned in the steel factories, but it was something. 18. 0

19. And they were earning any money while their husbands sat at home. 19. any
20. One cold afternoon in April, two men and a boy were walking next 20. next
21. through an empty factory. One was carrying a steel block on both his 21. both
22. shoulder. He complained: “Who is going to want this mine old block?” 22. mine
He was not in a very good mood. The block was heavy.
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Pisemna ¢ast prijimaci zkou$ky z anglického jazyka varianta D
Studijni program / obor: U¢itelstvi pro 2. stupenn ZS — anglicky jazyk

4, Ze ¢tyr moznosti vyberte jedinou spravnou. Pismeno spravné odpovédi zaneste do
sloupce vpravo ke spravnému cislu. Jina odpovéd’ nebude hodnocena.

40 b

1)

2)

3)

4)

5)

6)

Which book of children’s literature does the character of the White Rabbit come from?
a) Winnie-the-Pooh by A. A. Milne

b) Alice’s Adventures in Wonderland by Lewis Carroll

¢) Charlie and the Chocolate Factory by Roald Dahl

d) The Jungle Book by Rudyard Kipling

"...the Battle of France is over. I expect that the Battle of Britain is about to begin," are
words from

a) a speech of William the Conqueror from 1066

b) a proclamation of King Edward 111 from 1337

c) atreaty of Queen Elizabeth | from 1558

d) Winston Churchill’s speech from 1940

The novel Jane Eyre was written by
a) Jane Austen

b) Emily Bronté

c) Charlotte Bronté

d) George Eliot

Ernest Hemingway belongs to the literary movement called
a) Lake poets

b) Metaphysical poets

c) The Lost Generation

d) The Beats

John Updike wrote his literary work
a) in Middle Ages

b) in the 18" century

c) in Renaissance

d) in the 20™ century

James Joyce's Ulysses is

a) adrama

b) a picture of a mythological topic

c) the first English translation of Homer's epic
d) a modernist novel

1.

B
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7) Edgar Allan Poe was not an author of
a) Renaissance drama
b) short stories
C) poetry
d) critical essays

8) What is Cockney?
a) an American summer festival
b) a traditional Christmas dish
c) astrong London accent
d) abrand of Irish whiskey

9) The Black Death refers to
a) a battle in Normandy during the WWII
b) a battle of Napoleonic Wars
c) a plague epidemic in the 14™ century
d) acrisis of economy in the 1930s

10) Watergate scandal resulted in
a) World War 1l
b) American Civil War
c) the economic crisis of the 1930s
d) the resignation of President Nixon

11) Martin Luther King Jr. was
a) Governor General in Canada
b) an English religious reformer in the 14™ century
c) involved in the civil rights movement in the USA
d) Lord Chancellor executed under King Henry VIII

12) Which of these has NEVER been a British colony?
a) Australia
b) New Zealand
c) Brazil
d) India

13) Queen Victoria reigned in Britain
a) in the 13" century
b) in the 15" century
c) inthe 17" century
d) in the 19" century

10. D

11.C

12.C

13.D
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14) Pulitzer Prize is awarded in
a) the USA
b) the UK
c) Canada
d) Australia

15) What is the capital of Wales?
a) Dublin
b) Glasgow
c) Cardiff
d) Belfast

16) What is the highest peak of the USA?
a) Mount McKinley
b) Ben Nevis
c) Snowdon
d) Mount McKenzie

17) The words “Trick or treat” are associated with the celebration of
a) Halloween
b) Boxing Day
c) Independence Day
d) St. Patrick’s Day

18) The Emerald Isle is a nickname of
a) lreland
b) Australia
c) Canada
d) New Zealand

19) What is the largest US state?
a) Texas
b) Alaska
c) Florida
d) California

20) The Guggenheim Museum of Modern Art can be found in
a) New York
b) London
c) Canberra
d) Aberdeen

14. A

15.C

16. A

17. A

18. A

19.B

20. A
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Bodové hodnoceni:

Cast 1

- Spravna odpovéd max. 3 body
- Max. 60 bodu

Cast 2

- Spravna odpovéd’ 2 body
- Max. 60 bodu

Cast 3

- Spravna odpovéd 2 body
- Max. 40 bodu

Cast 4

- Spravna odpovéd’ 2 body
- Max. 40 bodu
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